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uncVZ {abs(corrM-0.039306122449)<2.8/2*(0.00201049398372+0*uncVZ)}

hnew2d
Entries 105446
Mean x 0.03913
Meany —-4.803
Std Dev x 0.001619
Std Dev y 1.907
3000
2500
2000
1500
1000
500
P 1 M T 0
0.07 0.08 0.09 0.1
hnewld
Entries 105446
Mean -4.803
Std Dev 1.907
X2/ ndf 76.17 /38
Amplitude 1.204e+04 + 5.155e+01
Mean -4.83 + 0.01
Sigma 1.694 + 0.006
Tail Z 2.561+ 0.178
Tail length 1.12 + 0.01
P B 1 M RN T
20 30 40 50



uncVZ:corrM {abs(corrM-0.0401020408163)<2.8/2*(0.00204452565949+0*uncVZ)}

50 hnew2d
= Entries 101335
40 — Mean x 0.03991
= Meany -4.809
20 E— Std Dev x 0.001642
= Std Dev y 1.878
0= 3000
10 — _—
E =5
oF—
= 2000
e e
= 1500
20 E— - N
30 E— 1000
0 E— 500
ol L 4 L L L ) L 1 A L 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0401020408163)<2.8/2%(0.00204452565949+0*uncVZ)}
hnewld
B Entries 101335
10 - Mean -4.809
= Std Dev 1.878
— X2/ ndf 72.17138
R Amplitude 1.176e+04 + 5.117e+01
10 = Mean ~4.836 + 0.006
- Sigma 1.667 + 0.006
— Tail Z 2.524 + 0.200
, Tail length 1.102 + 0.010
100 E—
0 E-
1
E. HH...
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uncVZ:corrM {abs(corrM-0.0408979591837)<2.8/2*(0.00207855733526+0*uncVZ)}

uncVZ {abs(corrM-0.0408979591837)<2.8/2%(0.00207855733526+0*uncVZ)}

hnew2d
Entries 97171
Mean x 0.04068
Meany -4.816
Std Dev x 0.001667
Std Dev y 1.851
3000
2500
2000
1500
1000
500
M T 1 MR B L 0
0.07 0.08 0.09 0.1
hnewld
Entries 97171
Mean -4.816
Std Dev 1.851
X2/ ndf 72.88137
Amplitude 1.144e+04 + 5.067e+01
Mean -4.84 + 0.01
Sigma 1.643 + 0.006
Tail Z 2.497 £ 0.249
Tail length 1.081+ 0.010
P B 1 PRI M
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uncVZ:corrM {abs(corrM-0.041693877551)<2.8/2*(0.00211258901103+0*uncVZ)}

hnew2d
= Entries 92994
— Mean x 0.04147
— Meany -4.82
— Std Dev x 0.001694
= Std Dev y 1.827
= 3000
E— — 2500
;_ 2000
E_ 1500
§ 1000
= 500
=, 1 PR RS RS E RS RS SRS R 1 A L 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.041693877551)<2.8/2*(0.00211258901103+0*uncVZ)}
hnewld
Entries 92994
= Mean -4.82
= Std Dev 1.827
L X2/ ndf 51.86 /35
Amplitude 1.115e+04 + 5.201e+01
= Mean -4.844 + 0.007
- Sigma 1.61+0.01
— Tail Z 2.404 £ 0.169
= Tail length 1.078 + 0.010
E
E | MR B | M L
50 -40 20 30 40 50




50

40

30

20

10

[
(=}
S

=
o
w

™

=
(=}

=
o

[

uncVZ:corrM {abs(corrM-0.0424897959184)<2.8/2*(0.0021466206868+0*uncVZ)}

hnew2d
= Entries 88880
— Mean x 0.04225
= Meany -4.826
E Std Dev x 0.001721
= Std Dev y 1.8
§ 2500
= 2000
— 1500
= 1000
= 500
=, 1 PR RS RS E RS RS SRS R 1 A L 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0424897959184)<2.8/2*(0.0021466206868+0*uncVZ)}
hnewld
Entries 88880
= Mean -4.826
= Std Dev 1.8
_ X2/ ndf 62.78 /35
Amplitude 1.081e+04 + 5.162e+01
= Mean -4.848 + 0.007
— Sigma 1.588 + 0.007
— Tail Z 2.386 + 0.135
= Tail length 1.056 + 0.011
E
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uncVZ:corrM {abs(corrM-0.0432857142857)<2.8/2*(0.00218065236257+0*uncVZ)}

hnew2d
= Entries 84886
— Mean x 0.04303
= Meany -4.831
E Std Dev x 0.001749
= Std Dev y 1.78
= 2500
= 2000
— 1500
= 1000
= 500
=, Lo b by b by Ly 1 A L 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0432857142857)<2.8/2%(0.00218065236257+0*uncVZ)}
hnewld
Entries 84886
= Mean -4.831
— Std Dev 1.78
— X2/ ndf 57.06 /34
Amplitude 1.046e+04 + 5.099e+01
§ Mean -4.855 £ 0.007
— Sigma 1.567 + 0.007
I Tail Z 2.339 £ 0.147
= Tail length 1.049 + 0.011
E
g TR B | M L
50 20 30 40 50




50

40

30

20

10

=
(=}
(S

=
o
w

™

=
o

=
o

[

uncVZ:corrM {abs(corrM-0.0440816326531)<2.8/2*(0.00221468403834+0*uncVZ)}

hnew2d
= Entries 80716
— Mean x 0.04381
= Meany -4.837
E Std Dev x 0.001774
= Std Dev y 1.758
= 2500
= 2000
— 1500
= - 1000
= 500
= | I IR B BT B R B 1 M BT 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0440816326531)<2.8/2%(0.00221468403834+0*uncVZ)}
hnewld
Entries 80716

= Mean -4.837

— Std Dev 1.758

— X2/ ndf 50.48 / 34
= Amplitude 1.01e+04 + 5.03e+01
= Mean -4.86 + 0.01

= Sigma 1.541+ 0.007

Tail Z 2.288 £ 0.176

E Tail length 1.038 + 0.011
E
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uncVZ:corrM {abs(corrM-0.0448775510204)<2.8/2*(0.00224871571411+0*uncVZ)}

hnew2d
= Entries 76280
— Mean x 0.04458
— Mean y -4.84
— Std Dev x 0.001796
= Std Dev y 1.734
= 2500
= 2000
= 1500
— - 1000
§ 500
=" L b L L e L L I P R 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0448775510204)<2.8/2%(0.00224871571411+0*uncVZ)}
hnewld

% Entries 76280

= Mean -4.84

— Std Dev 1.734

— X2/ ndf 52.9/33
= Amplitude 9693 + 49.6

= Mean -4.863 £ 0.007

— Sigma 1.517 + 0.007

Tail Z 2.24 £ 0.15

E- Tail length 1.027 + 0.011
E

? TR B | T B
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uncVZ:corrM {abs(corrM-0.0456734693878)<2.8/2*(0.00228274738988+0*uncVZ)}

50 = i hnew2d
= Entries 72255
40 — Mean x 0.04537
= Meany —4.845
30 E— Std Dev x 0.001825
= Std Dev y 1.707
20 /—
10E— 2000
(o) =
= 1500
-10 :_
20— 1000
-30 E_
= 500
-40 :_
) TR BT | 1 ] 1 L 1 A 1 A R 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0456734693878)<2.8/2%(0.00228274738988+0*uncVZz)}
hnewld
10— Entries 72255
= Mean —-4.845
— Std Dev 1.707
- X2/ ndf 57.35/33
100 =— Amplitude 9308 + 48.8
= Mean -4.863 £ 0.007
= Sigma 1.497 + 0.007
— Tail Z 2.234 £ 0.148
10° = Tail length 1.003 + 0.011
10
1
T BT R ” | |_|” |_| | IR ST RS S TS
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uncVZ:corrM {abs(corrM-0.0464693877551)<2.8/2*(0.00231677906565+0*uncVZ)}

hnew2d
= Entries 68415
— Mean x 0.04615
— Meany -4.85
— Std Dev x 0.001856
= Std Dev y 1.687
§ 2000
;_ 1500
E_ L= 1000
= 500
=, Lo b by b b A 1 A L 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0464693877551)<2.8/2%(0.00231677906565+0*uncVZz)}
hnewld
- Entries 68415
= Mean -4.85
— Std Dev 1.687
- X2/ ndf 43.76 /33
- Amplitude 8931+ 48.0
= Mean -4.872 + 0.007
— Sigma 1.476 + 0.007
— Tail Z 2.18 £ 0.17
L Tail length 0.9995 + 0.0110
E, I ’-I.‘ | IR ST RS S TS
50 ~40 10 20 30 40 50




uncVZ:corrM {abs(corrM-0.0472653061224)<2.8/2*(0.00235081074143+0*uncVZ)}

50 hnew2d
= Entries 64717
40 — Mean x 0.04692
= Meany —-4.855
30 E— Std Dev x 0.001885
= Std Dev y 1.667
20 /—
= 2000
10 /— - -
o 1500
-10 :_
0 E_ -_ 1000
_30 :_
= 500
-40 :_
= Lo b by b b A 1 A L 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0472653061224)<2.8/2%(0.00235081074143+0*uncVZ)}
hnewld
10— Entries 64717
= Mean —-4.855
— Std Dev 1.667
— X2/ ndf 37.25/32
10° Amplitude 8548 + 47.1
= Mean -4.878 £ 0.007
— Sigma 1.459 + 0.007
— Tail Z 2.151+ 0.196
10* = Tail length 0.9894 + 0.0111
10 =
1
E H | IR ST RS S TS
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uncVZ:corrM {abs(corrM-0.0480612244898)<2.8/2*(0.0023848424172+0*uncVZ)}

50 hnew2d
= Entries 60796
40 — Mean x 0.04771
— Meany -4.86
30 — Std Dev x 0.001909
= Std Dev y 1.648
20 :_ 2000
10 /— -
= 1500
0
-10 E_
= = 1000
-20 — -
-0 E— 500
-40 :_
= 1 AR R RS RSN RS | A 1 A R 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0480612244898)<2.8/2*(0.0023848424172+0*uncVZ)}
hnewld
100 = Entries 60796
= Mean -4.86
— Std Dev 1.648
— X2/ ndf 37.84/32
10° = Amplitude 8129 + 46.1
= Mean -4.884 + 0.007
— Sigma 1.441+ 0.007
— Tail Z 2.117 £ 0.239
10?0 = Tail length 0.9812 + 0.0113
=
1
E | H | IR ST RS S TS
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uncVZ:corrM {abs(corrM-0.0488571428571)<2.8/2*(0.00241887409297+0*uncVZ)}

hnew2d
= Entries 57258
— Mean x 0.0485
= Meany -4.863
— Std Dev x 0.001936
= Std Dev y 1.63
E_ = = 1500
= . 1000
— 500
=, Lo b by b b A 1 A R 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0488571428571)<2.8/2%(0.00241887409297+0*uncVZ)}
hnewld
= Entries 57258
= Mean -4.863
— Std Dev 1.63
= X2/ ndf 35.06/31
= Amplitude 7754 + 45.5
= Mean —4.888 + 0.008
— Sigma 1.422 + 0.008
— Tail Z 2.105 + 1.510
= Tail length 0.9751+ 0.0138
E
E ) H. L b b
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uncVZ:corrM {abs(corrM-0.0496530612245)<2.8/2*(0.00245290576874+0*uncVZ)}

hnew2d
= Entries 53848
— Mean x 0.04929
= Meany -4.862
E Std Dev x 0.001961
= Std Dev y 1.619
— 1600
E— 1400
—_ 1200
= 1000
§ = 800
= = 600
= 400
— 200
=, IR U E S S T S SN RS RS S I SRR R A R 0
0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0496530612245)<2.8/2%(0.00245290576874+0*uncVZ)}
hnewld

= Entries 53848

= Mean -4.862
[~ Std Dev 1.619

— X2/ ndf 28.3/31
= Amplitude 7361+ 44.5

= Mean -4.89 +0.01
— Sigma 1.408 + 0.008

— Tail 2.231+ 0.337
- Tail length 0.9786 + 0.0170

. . H [ B M B
10 20 30 40 50




uncVZ:corrM {abs(corrM-0.0504489795918)<2.8/2*(0.00248693744451+0*uncVZ)}

50 = i hnew2d
= Entries 50421
40 — Mean x 0.05007
= Meany -4.862
30 E— Std Dev x 0.001976
= Std Dev y 1.601
20 ;— 1600
10 f— - 1400
oE— 1200
= 1000
-10 /—
= = 800
-20 /—
= 600
-30 E_ 400
-40 ;— 200
= Lo b by b b A 1 A R 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0504489795918)<2.8/2%(0.00248693744451+0*uncVZ)}
. hnewld
10" = Entries 50421
= Mean -4.862
— Std Dev 1.601
5 X2/ ndf 27.26/31
10 = Amplitude 6953 + 43.1
— Mean -4.891 + 0.008
: Sigma 1.397 + 0.008
5 Tail Z 2.223 £ 0.272
10 =? Tail length 0.9684 + 0.0160
0 E-
1
? L M | T B
-50 10 20 30 40 50




uncVZ:corrM {abs(corrM-0.0512448979592)<2.8/2*(0.00252096912028+0*uncVZ)}

50 = i hnew2d
= Entries 47443
40 — Mean x 0.05083
= Meany -4.864
0E— Std Dev x 0.002002
= Std Dev y 1.592
20 ;— 1600
10 E— 1400
o E— 1200
— 1000
-10 /—
E 800
-20 —
— 600
-30 E_ 400
-40 ;— 200
= [ I T ST B N 1 M BT 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0512448979592)<2.8/2%(0.00252096912028+0*uncVZ)}
. hnewld
10 Entries 47443
Mean -4.864
Std Dev 1.592
X2/ ndf 34.85/31
10° Amplitude 6593 + 42.1
Mean -4.896 + 0.008
Sigma 1.384 + 0.008
Tail Z 1.993 + 0.295
102 Tail length 0.9616 + 0.0121
10
1 H
L | T Pl | P T T S IS T T SO NN [ TR TR S SR N S N T
-50 -40 10 20 30 40 50




uncVZ:corrM {abs(corrM-0.0520408163265)<2.8/2*(0.00255500079605+0*uncVZ)}
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hnew2d
= Entries 44452
— Mean x 0.0516
= Meany -4.869
E Std Dev x 0.002031
= Std Dev y 1.583
= 1400
— 1200
— 1000
— 800
— 600
— 400
— 200
= L e e by e by b Ly 0
0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0520408163265)<2.8/2*(0.00255500079605+0*uncVZz)}
hnewld

= Entries 44452

— Mean -4.869

— Std Dev 1.583

X2/ ndf 37.06/30

=— Amplitude 6229 +41.1
= Mean -4.9+0.0

— Sigma 1.373 £ 0.008

B Tail Z 1.972 + 0.354
= Tail length 0.9551+ 0.0124
E

E . ﬂ Ly Lo by Ly
50 10 20 30 40 50




uncVZ:corrM {abs(corrM-0.0528367346939)<2.8/2*(0.00258903247182+0*uncVZ)}

50 hnew2d
= Entries 41544
40 — Mean x 0.05239
= Meany -4.874
20 E— Std Dev x 0.002061
= Std Dev y 1.567
20 —
= 1200
10 —
= 1000
oF—
-10 f— 800
0 E_ 600
-30 f— 400
0 E— 200
= Lo b by b b A 1 A R 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0528367346939)<2.8/2%(0.00258903247182+0*uncVZ)}
hnewld
4
100 E- Entries 21544
— Mean -4.874
— Std Dev 1.567
5 X2/ ndf 41.58/30
100 E— Amplitude 5876 + 40.5
= Mean -4.902 £ 0.012
— Sigma 1.363 + 0.011
Tail 1.68 + 0.23
10* = Tail length 0.9527 + 0.0141
10 =—
1
E [ . H Ly Lo by Ly
-50 —40 10 20 30 40 50




uncVZ:corrM {abs(corrM-0.0536326530612)<2.8/2*(0.00262306414759+0*uncVZ)}

50 hnew2d
= Entries 38875
40 — Mean x 0.05317
= Meany -4.875
30 E— Std Dev x 0.002091
= Std Dev y 1.555
20 /—
= 1200
10 —
= 1000
0
-10 f— 800
20 E_ 600
-30 f— 400
20— 200
b L e L L A 1 L L 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0536326530612)<2.8/2%(0.00262306414759+0*uncVZ)}
10° hnewld
Entries 38875
Mean -4.875
Std Dev 1.555
3 X2/ ndf 38.69 /29
10 = Amplitude 5589 + 40.8
— Mean -4.897 + 0.009
— Sigma 1.33+£0.01
) Tail Z 1.875 + 0.337
100 E— Tail length 0.943 + 0.013
10 =
1
E | M | | L
-50 10 20 30 40 50




uncVZ:corrM {abs(corrM-0.0544285714286)<2.8/2*(0.00265709582336+0*uncVZ)}

50 = i hnew2d
= Entries 36214
40 — Mean x 0.05395
= Meany -4.876
30 E— Std Dev x 0.002113
= Std Dev y 1.542
20— 1200
10 —
= - - 1000
(o) =
= 800
-10 :_
= = - 600
-20 /—
-30 f— 400
0 E— 200
ol L 4 L L L L L L L 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0544285714286)<2.8/2%(0.00265709582336+0*uncVZz)}
hnewld
Entries 36214
Mean -4.876
Std Dev 1.542
X2/ ndf 44,57 /29
Amplitude 5268 + 40.0
Mean -4.902 £+ 0.009
Sigma 1.312 + 0.010
Tail Z 1.825 + 0.223
Tail length 0.9435 + 0.0133

10 20 30 40 50



uncVZ:corrM {abs(corrM-0.0552244897959)<2.8/2*(0.00269112749913+0*uncVZ)}

50 = i hnew2d
= Entries 33780
40 — Mean x 0.05472
= Meany -4.875
30 E— Std Dev x 0.002142
= Std Dev y 1.534
20 /—
= 1000
10 —
oE- Sl
-0 __ 600
-20 = =
= 400
-30 :_
40 E— 200
= [T 1 ] 1 | A 1 A L 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0552244897959)<2.8/2%(0.00269112749913+0*uncVZ)}
— hnewld
= Entries 33780
— Mean -4.875
— Std Dev 1.534
2
3 X2/ ndf 48.06/ 28
1
0 E_ Amplitude 4936 + 38.8
— Mean -4.901 £+ 0.009
| Sigma 1.306 + 0.010
107 b— Tail 1.817 + 0.204
= Tail length 0.9388 + 0.0137
10
1
NI BRI B S ” . ” | M | M L
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uncVZ:corrM {abs(corrM-0.0560204081633)<2.8/2*(0.0027251591749+0*uncVZ)}

hnew2d
= Entries 31377
— Mean x 0.0555
= Meany -4.874
— Std Dev x 0.002165
= Std Dev y 1.527
— 1000
E_ L . 800
= 600
— 400
§ 200
= 1 N B T B B N 1 N . 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0560204081633)<2.8/2*(0.0027251591749+0*uncVZ)}
- hnewld
= Entries 31377
— Mean -4.874
— Std Dev 1.527
- X2/ ndf 41.68/28
= Amplitude 4594 + 37.4
— Mean -49+0.0
| Sigma 1.305 + 0.010
L Tail Z 1.825 + 0.233
§ Tail length 0.9327 + 0.0142
E | P B 1 PRI M
50 10 20 30 40 50
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uncVZ:corrM {abs(corrM-0.0568163265306)<2.8/2*(0.00275919085067+0*uncVZ)}

hnew2d
= Entries 29133
— Mean x 0.05629
— Meany -4.88
— Std Dev x 0.002188
= Std Dev y 1.516
— 1000
E_ _— 800
= 400
§ 200
=, [T 1 ] 1 | A 1 A R 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0568163265306)<2.8/2%(0.00275919085067+0*uncVZ)}
— hnewld
= Entries 29133
— Mean -4.88
I Std Dev 1.516
= X2 I ndf 39.25/28
= Amplitude 4299 + 36.3
— Mean -4.899 £ 0.010
Sigma 1.293 + 0.011
E Tail Z 1.813 + 0.205
= Tail length 0.922 + 0.015
? | IR | | M | T B
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50
40
30
20

10

10°

10

10

[

uncVZ:corrM {abs(corrM-0.057612244898)<2.8/2*(0.00279322252645+0*uncVZ)}

hnew2d
= Entries 27144
— Mean x 0.05707
= Meany —-4.887
E Std Dev x 0.002216
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uncVZ:corrM {abs(corrM-0.0584081632653)<2.8/2*(0.00282725420222+0*uncVZ)}
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uncVZ:corrM {abs(corrM-0.0592040816327)<2.8/2*(0.00286128587799+0*uncVZ)}
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uncVZ:corrM {abs(corrM-0.06)<2.8/2*(0.00289531755376+0*uncVZ)}

hnew2d
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— Mean x 0.0594
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— Mean -4.871

Std Dev 1.485
=— X2/ ndf 33.08/28
= Amplitude 3276 + 31.8
- Mean -4.899 + 0.011
- Sigma 1.27 + 0.01
- Tail Z 1.762 + 0.368
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